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Question Number : 1 Question Id : 4699751511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If 'x' and 'y' are any two numbers such that 'x' 1s a multiple of 'y' | then their L.C.M.1s
X oR8d y Gw¥) Hduin ediey fo Bob Sogen x HBAED Y, wand o LR
Options :

4699756001, ¢ *

T
4699756002. # Y

4699756003, % X T Y

4699756004, ® XY

Question Number : 2 Question Id : 4699751512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If x =logs;2 and =log; 5, then the value of log; 30 interms of x and y is
x =logs 2 $8c5 y =log; 5 eand logs 30 Densd x HbBain y Horedt

Options :

4699756005, % X —¥ +1

_xdyp—1
4699756006. # Y

4699756007 v X Ty +1

4699756008, % X —¥ — 1

Question Number : 3 Question Id : 4699751513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 72 = 2% x 3P then the value of ‘ab’ is

72 = 2° x 3% wow$ ‘ab Dend

Options :

4699756009. *



6
4699756010. ¥

5
4699756011, # =

4699756012, # B

Question Number : 4 Question Id : 4699751514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 14 1s deleted from the scores12, 14, 15,16,17,18,19 and 20 .
then their median increases by
12,14,15,16,17, 18,19 L0805 20 oodhen 08 14 & &DAcHY,

© ooHe PSS’ DS
Options :
4699756013. % L

4699756014, % 15

4699756015, % 2

tn

4699756016. ¥ 0

Question Number : 5 Question Id : 4699751515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If secA + tan @ = 4. then the value of cos@ 1s
secA +tanfd = 4 ®ond cosh Dend

Options :

8

17
4699756017. ¢

4

17
4699756018, %

15

17
4699756019. %

17

4699756020. ¥ 8

Question Number : 6 Question Id : 4699751516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Among the following, a linear equation in one variable is
& (Bod m8E°, HE 55086 Bhah $S&oESesm

Options :
2+l =yg=3
4699756021. # Y
5 R B i
4699756022, ¥
2y—1= x2

4699756023. #

x2—x+1=0
4699756024, #

Question Number : 7 Question Id : 4699751517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The nature of roots of the quadratic equation x? —5x + 6 = 01is
X2 —5x+6=0 3% 5&oLdein Tk drere Srssm

Options :

No real roots

THS Sareren B
4699756025, ® > =

Real and equal

TP 0RreD 0BG LPDRTrTEen
4699756026. ® =

Real and distinct

TS Hogren SHdA DdTmen
4699756027. & = % LA,

One 1s positive and the other is negative
2,88 Frrdsn, 6°5E wocE)Esn
4699756028. %

Question Number : 8 Question Id : 4699751518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following. a figure showing concurrent lines is
& (Bod TEE°, ol (2088) Spei SrQoh Hwo

Options :



:)}’; o : .,
4699756029. #
~
‘\H‘
4699756030. *
._/;/'._-_- '
" "
4
4699756031, %
4

4699756032, ¥

Question Number : 9 Question Id : 4699751519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the given figure. there are two concentric circles with centre ‘O’ 1f
AB = 5cm, then the length of CD (in cm) 1s
2% dwod® ‘O’ ColBorr Ko Bo JE Toli Homen avmon AB =5 0.8,

wond CD &5 ( Do.&b.eo8)

Options :

4699756033, # 2.5



4699756034, ¢

.
4699756035, % 2

. 10
4699756036. *

Question Number : 10 Question Id : 4699751520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the sum of first %’ terms of an A.P. is 3n? + n . then its common difference is
2.8 ©o¥ (386 TS n’Hore Fodsn 3n? +n vond © (B8 DSorosBsD

Options :

4699756037. ¢

10
4699756038. *

4699756039. * %

4699756040. # 1

Question Number : 11 Question Id : 4699751521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

37

Options :
y 1
4699756041, *
4699756042, #
.
4699756043,
=7

4699756044, # g

Question Number : 12 Question Id : 4699751522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



ABC is an isosceles triangle with AC = BC. If (AB)? = 2(AC)? , then the measure of 2C is
Sodraeiso (Bgbao ABC &° AC = BC mo=(4B)? = 2(AC)? oo £C Fod

Options :

Q
4699756045, ® 30

o

4699756046. #

<
4699756047, # Gy

4699756048, ¥ )

Question Number : 13 Question Id : 4699751523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the height of a man and the length of his shadow are equal, then angle of

elevation of the Sun at that time 1s
2.8 $00% ) 50805 oS0 DY FEHe SSrEEn vond © Schos®

S8 88eren 2808’ T Smo
Options :

(+]
4699756049. # 30

45°

4699756050. ¥

4699756051, ¥ 60°

o

9
4699756052, #

Question Number : 14 Question Id : 4699751524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the slope of the line passing through the points (2,5) and (x,3) 1s 2 .
then the value of “x © 1s

(2,5) 50805 (x,3) DoHe Howe D5 B e 2 ®od ‘x * Dend
Options :

4699756053, %

4699756054, %



4699756055, % 2

1
4699756056. ¥

Question Number : 15 Question Id : 4699751525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ifsin4 = cos B (0° < A, B < 90°), then among the following, a true statement 1s
sinA = cos B (0° < A,B < 90°), woni & (8od =8S° 3BS ==%5m

Options :

4699756057. * L

ZA=sB
4699756058, %

A+ ZB =90°
4699756059. ¥

4699756060, % LA+ 4B =180°

Question Number : 16 Question Id : 4699751526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1f an unbiased dice 1s rolled once, then the probability of getting an even

number on its top face is
2.8 Qa8 05 2570 &°000KHM, el Piwgo D8 Jogy eﬁ'f_j Doz

Options :

1
4699756061. ¥ .

1
4699756062, # 3

4699756063. #

w |2

4699756064, #

Question Number : 17 Question Id : 4699751527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the volume of a cylinder is 49896 cm? and its CSA is 4752 cm?. then its base radius (in cm) is
2.8 Jpo o8 HSrmo 49896 . 70.8. HBAW TR SESe FTegEw 4752 $.70.80.

wow® wl 3 FgFgo ( 20.H o&f)
Options :

4699756065. # 123
4699756066. ¥

4699756067. #

4699756068, ® 13.7

Question Number : 18 Question Id : 4699751528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IfA = {x:x =n® + 1,neN and n < 5}, then the roster form of set A is
A={x:x=n’+1,neNandn <5} oond, H5H& A BB, dodrdo

Options :

4699756069. % {1,4,9,16,25}

4699756070, % {0,3, 8,15, 24}

{2,5,10,17,26)
4699756071. ¥

(2,6,11,18,27)
4699756072, #

Question Number : 19 Question Id : 4699751529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mean of the numbers 1,2,3,4,....1n is
1.2.3.%.....7 éow&m STty

Options :

4699756073. ¢ 2

4699756074, % 2

| B

4699756075. #



4699756076, %

Question Number : 20 Question Id : 4699751530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following

238 DBTok
Group A Group B
a. sin(90—8) i 3
b. cos0°+ sin90° + V2 sin 45° . cosec@
c. tan®30° 1. cos@
d. sec(90-—108) -

Among the following. the correct option is

& (208 T8S° $BY JErrraR) S0

Options :
a—ii, b—1i, c—iv, d-—iii
4699756077. ¥
a—iii, b—iv, c¢—1i, d—ii
4699756078, #

a—ii, b—ivy c¢—1, d-—iii
4699756079. %

a—iii, b—i, ec—iv, d—ii
4699756080. +

Question Number : 21 Question Id : 4699751531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following does not affect friction?
2o mB&° o8 (Hrddo TehHY wodo H&?
Options :
Roughness of surfaces
Sere %S00
4699756081, *

Area of contact of the surfaces

SPw VTIRTLO
4699756082, ¥ alrom=" 8



Smoothness of surfaces

1699756083, & ST© oR0pEKo

Normal force
edeon oo
4699756084, %

Question Number : 22 Question Id : 4699751532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s generally called * fake fur”?
BED &R e HeodnGs D8?

Options :
Acrylic
=
4699756085. ¥ LS
Silk

i

ST vy)
4699756086. % &

Rayon

[leverts)
4699756087, #

Jute

adHdTs
4699756088, #

Question Number : 23 Question Id : 4699751533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Audible range of frequency for normal human beings 1s
oo SrdHen OHKON & (€5 o) @‘é:@ﬁ:&o

Options :

10 vibrations / sec. to 10,000 vibrations / sec.

10 ¥odmren /| DES D08 10,000 Hodmren /| EDH 85
4699756089, %

20 wibrations / sec. to 20.000 vibrations / sec.

20 Xodaren / XS 008 20,000 Bodmren /0B S85%
4699756090. ¥

30 vibrations / sec. to 30.000 vibrations / sec.

. 30 Zodmren / ES 008 30,000 Zodmren /| HESH D55
4699756091.



40 vibrations / sec. to 40.000 vibrations / sec.

40 Zodmren /| EH Hood 40,000 ZEodmren [ mESH 85
4699756092, %

Question Number : 24 Question Id : 4699751534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The eclipse formed when the moon completely covers the sun as seen
trom the earth 1s

503 ool rdXgph ot Jrdyl Fror wiBoddyons ABG (irwo

Options :

Total lunar eclipse

il E¥4 v
NoIPE SolB|isTrmo
4699756093, # = &l

Penumbral lunar eclipse

4699756094, % Bendd Kol (o

Total Solar eclipse

i 4 i ~

RDOTRE AES(Hsre0
4699756095, ¢ “OF8 ol

Partial Solar eclipse

Boc £ ot ren
4699756096, ¥ arES Srgyllisrmo

Question Number : 25 Question Id : 4699751535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Image of a real object in a plane mirror 1s
Qe H2H% Jdhde S8 mo S T (Hédomo
1 Virtual

o [B8Doo
11 Suffers lateral inversion

8y, Do FroEosd
11 Real

Qe (H88omo

1v Same size of the object
(B8Domo HBETmo Sy PBEFRoS® HIEHo

Options :

4699756097, % 111111



11,111,1V
4699756098, *

4699756099, % 1. 11,1V

LI1LIV
4699756100, ¥

Question Number : 26 Question Id : 4699751536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are compound substances?
Bod &S HSodri dorTes 28?

1. Salt
SJP
1. Salt in Water
edp D8 (eHeo
1. Sugar
HodEd
v Sugar in water
HodSeed {E (oS0
Options :
4699756101, % L1

4699756102, % 11,111

111V
4699756103, ¥ 7

4699756104, v 1111

Question Number : 27 Question Id : 4699751537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a displacement reaction ?
Bod &S° BraDd ~xHlgod S8 8 ?
Options :

2H,0—2H, + 0,
4699756105. * = =

10, S0,
4699756106. # -



Fe+ CuSO; — FeSO, + Cu
4699756107. ¥

NaOH + HCl — NaCl+ H,0
4699756108. * )

Question Number : 28 Question Id : 4699751538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the uses of Baking Soda among the following 1s
Bod T&E° HSob A S3ovic)) BITrrrod® i

Options :

It 1s used as reagent in the preparation of chloroform

=8 3 —p ot
4699756109, # "’MSE@BO édﬁj“&ﬁﬁ S 6..;04’1" &@gj ﬁoﬁ@’ﬂ@ﬁ)

It 1s used as soda- acid in fire extinguishers
off) $rH% aholsres® 5D Ve eforr SHBFATH
4699756110, ¢

It 1s used for removing permanent hardness of water
D& Gw¥) S B EH SFONoSERE AN SBHTPALD

4699756111, #

It 1s used for making toys

&R Fhpe SairbE” BLIBrATS
4699756112. #

Question Number : 29 Question Id : 4699751539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s known as ‘liquud gold’?
¢ (BS porrdo’ mr hendnd oo A6?

Options :

Petroleum

4699756113, ¥ BE*Dao

Kerosene

25505
4699756114, %

Diesel
&2
4699756115, ¥

Paraffin Wax

1699756116, % TR Fodo



Question Number : 30 Question Id : 4699751540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The separation method used to observe the colours in a mixture of colours 1s
Borbe Edo &°0 098 SorbedH I ID HrETRE ABErACT BES

Options :
Evaporation
8o
4699756117, %
Sublimation
B& 880
4699756118, %
Chromatography
E e S
4699756119, ¢
Crystallization
‘r'éu:,-f;édécao

4699756120, %

Question Number : 31 Question Id : 4699751541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The longest Phase i cell cycle where duplication of genetic material takes place 1s
Eeous(Eo® akydery Eyodtsm N e &3

Options :

G1 Phase

Gl 8%
4699756121, %

G2 Phase

G2 &%
4699756122, %

S Phase

S &%
4699756123, ¢

M Phase

M &%

4699756124, %



Question Number : 32 Question Id : 4699751542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the cells without nucleus from the following
208 T&&° Bo|¥o B Lol HBotod

Options :
Thrombocytes
Frof iy
4699756125. ¢
Leucocytes
oS in
4699756126, %
Monocytes
LT
4699756127, %
Lymphocytes
DodFen

4699756128, #

Question Number : 33 Question Id : 4699751543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Depletion of Ozone laver 1s caused due to
5855 &8 &_caeﬁfo ==8c20
Options :
Oxygen

a -
el
4699756129, %

Ultraviolet rays

1659756130, 8 wade %8 BScren

Sulphur dioxide

$en8 SaTE)E
4699756131, % "“’

Chloro fluoro carbons

ooy

4699756132, ¢

Question Number : 34 Question Id : 4699751544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the INCORRECT PAIR from the following
208 T&S° $8=0 wSH HBoS0
Options :
Binominal nomenclature Carolous Linnaeus
B T XS0 XFeD Dﬁ&cﬂ:ﬁ

4699756133, %

Five Kingdom Classification - Copeland

0 Toerge HEEGe 5°% om0l
4699756134, ¥

Blood Circultion - William Harvey

BE (D3Bes DOcHo For
4699756135, % = w

Origim of species - Charles Darwin

AdHe Dt =80 &S

4699756136, #

Question Number : 35 Question Id : 4699751545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Water vascular system is present in the organisms belonging to this phylum
20 (B8 JHY LONS Bhen o SRS TobDA:

Options :
Chordata
==0ér
4699756137, % =
Echinodermata
=BT
4699756138, ¥ o
Mollusca
RS Shvad)
4699756139, # =2
Coelenterata
Se0LBer

4699756140, #

Question Number : 36 Question Id : 4699751546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Hormone responsible for promoting aging of leaves 1s
oo SArHER [@s)irod 555&5
Options :



Ethylene
SEOS

4699756141, %

Auxins
&)%)

4699756142, %

Cytokinins

2705
4699756143, %

Abscisic acid

I HE sHho
4699756144, ¥ = o

Question Number : 37 Question Id : 4699751547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following organisms show external fertilization?
Bod =&&° ariy HobStm rdhoid E0 96?
Options :
Snake
4699756145, % B

Bird
Ha
4699756146, ® -
Fish
5 5
4699756147, ¢
Bat

¥ heo
4699756148, % <

Question Number : 38 Question Id : 4699751548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the moncot plant from the following
Bod =& & D% 8¢ D IR HBool
Options :
Green gram

-, v
4699756149, % PV



Beans

£
4699756150, % =

Ground nut

S Ed
4699756151, %

Paddy

4699756152, ¢

Question Number : 39 Question Id : 4699751549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT sentence from the following
Bod T&E* 580 as=R) hBosod

Options :
Sprinklers and drip urigation techniques are used in drought prone areas

D% %5 0Dod (HRTes® (Rokben, Doondro HSof HEenr AHTEATS
4699756153, % 4 i e = =

Leveling the soil 1s useful for nrigation of fields

8% % SEdoTohto o D¥odoso eysidod
4699756154, % s

In some plants flowering depends on the duration of the night

Q) Ewdém QPipoiito oGsreon S8R 8 dotnod
4699756155, %

Batley, greengram ., peas and wheat are kharif crops

6, DD, FSrien Bk Ahven PbD Hotoen
4699756156. ¢

Question Number : 40 Question Id : 4699751550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



. Identify the types of muscle given m the picture
DBos® 2B Sotivee So=@) HBoPOE

Options :

Striated muscle

o
4699756157 % 088 Sotito

Non striated muscle

e %otido
4699756158, ¥

Cardiac muscle

?’.Jgécﬁ:: ¥otido
4699756159, %

Skeletal muscle

o Xoido
4699756160, # @

Question Number : 41 Question Id : 4699751551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This 1s the relief feature of Telangana
b Svorre Gwk) FHOE JErho
Options :

Krishna Delta
f@é Qer
4699756161, % e

Devarakonda hills

LR ED o
4699756162, ¥ BR8T o8 Sotien



Godavari Delta

Roesd Qer
4699756163, % )

Western Ghats
éfﬂdaﬁa Eosoen
4699756164, %

Question Number : 42 Question Id : 4699751552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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The 1mmportant source of mformation to know about Mauryan rule is
SP8pe 28FreR H80D BeohE oD 38 of Swgrdd erdo

Options :
Indica

208
4699756165, ¢

Motupalli pillar inscription

% o
1609756166, % TeNNY ©Pdd FTHX0

Qibla
Bor
4699756167. ¥ ™

Sushrutha Sambhaita

HES SosrS
4699756168. #

Question Number : 43 Question Id : 4699751553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Auroville, an mternational village was established to spread the message of
& Jo8R) T5h VEHERE ©5DF ©F eoSTEAD (ro FFhoSpdosd

Options :

Population control

1600756160, % T VaboSes

Peace and global cooperation

Frod BAiw (Hdot SF==do
4699756170. ¢

Environment conservation

NoErRBe DBBED
4699756171, # 3 nt



Sustamable development
o8 N6
4699756172. % @ 28

Question Number : 44 Question Id : 4699751554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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We find the earliest evidence of cultivation of crops from
©b SrdPe & PN olaEy) IS nohey Hewow.

Options :
Sr1 Lanka
(BeoX
4699756173, %
India
4699756174, % Fo8ado
Bangladesh
DOERS
4699756175, %
Baluchistan
DerdFTo

4699756176. ¥

Question Number : 45 Question Id : 4699751555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Observe the given map and identify the given latitude
Bob e $84D0D aSwaS ozoTR) HBoSos

Options :



Equator
4699756177, & ATRE] OB

Tropic of cancer

X8 O
4699756178, % — ©

Tropic of Capricorn

So¥8 B
4699756179, %

Antarctic Circle
@oﬁr&g&ﬁ Sexdho
4699756180. %

Question Number : 46 Question Id : 4699751556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Under the Nayankara System, the Nayakas
TH0%E8 Doedo & TahHen

Options :

Maintained the army for the service of the king

) T 0 B0 Fhodardd
4699756181, ¢ = ®

Donated land to the Brahmins

R rimet DF0EBOTT
4699756182

Mamtamed land for the schools
ST A5 FnD el eddrhota=d
4699756183, %

Gifted land to the temples

Sarodire® P DHEBoTTH
4699756184, %

Question Number : 47 Question Id : 4699751557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Om Prakash Valmiki’s autobiography *“ Joothan™ highlights the issue of
5.0 (B8 08 Gk Srah $B(S wowd wroeS 6 D80 Beos)Eod
Options :
Poverty

= v
4699756185, % 8080



Unemployment

Q&Ko
4699756186, % v

Inequality

(LS VL]
4699756187. ¥

Illiteracy

K}tﬁgma'aé
4699756188, %

Question Number : 48 Question Id : 4699751558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Identify the wrong pair
QB 28K HBoiol

Options :
Boulton - Steam engine
TS e dholo (%.53 20e30)
4699756189, *
John Loudon Mc Adam - Rail Transport
0 TE0 & el Ben Saree
4699756190. ¥
Wright Brothers - Air Transport
BeT bestoen DIEFS Sz
4699756191, % =
Columbus - America
SPeoonm (Dol

4699756192, &

Question Number : 49 Question Id : 4699751559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
Hemanta Ritu is followed by
o8 ondy) SHad ST

Options :

Vasanta Ritu

SHoes e
4699756193, & 2

Shard Ritu

4699756194, & el 20



Shishira Ritu
4699756195, ¢ 288 o

Varsha Ritu

8. 20Dy
4699756196, % =

Question Number : 50 Question Id : 4699751560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Under PM Jan Dhan Yojana, the account holder gets
o8 Sol® a8 88 Trad (Bod ool ooTD

A. Rupay debit card
5D 58
B. Rupees one lakh accident Insurance coverage
2% of Erarche S8 (H5eE D
C. Over drafting facility
.58 ([goh Jvarabo
Options :
Only A and B
A o8a» B
4699756197, *
Only B
B &rgEdh
4699756198. *
ABand C

AB S8cw C
4699756199, «

Only B and C
B S8cs0 C &b
4699756200. %

Question Number : 51 Question Id : 4699751561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0



Asrange the following in the chronological order
Eod &R e Boll ool

A. Non cooperation Movement
P VoeEEE S0

B. Rowlatt Act
GHELIENIVE

C. Champaran Compaign

Soarss @S Es
D. Dandi March

Sl oie(e
Options :
4699756201, ¥ C; B, A D
sc09756200. 8 3 A D, B
4699756203, % DB, G 2
A, C B, D

4699756204, #

Question Number : 52 Question Id : 4699751562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Right to Information is recognized within the constitution under two fundamental rights as
Do S Trarmroiio € ot (REE e Eod DB
ey o o — D
Options :
Freedom of speech and Freedom to form Association
E Segolgro SBcin SoFreore, Hifenrr DBYE o5
4699756205, *
Right to Equality and Right Against Exploitation
“, Ve i 0 g = o -
4699756206, % REERED 5 B ETAY Q5°80D T

Right against Exploitation and Freedom of speech

b)) 800D 55 Hbcm =8 FdolEo
4699756207, % a = %

Freedom of expression and Right to Life
TS (DB T DB £Dod Ty
4699756208. ¢ . 7



Question Number : 53 Question Id : 4699751563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Thickness of the Troposphere 1s greatest at the
5°8F e58mo & ST BoG PR
Options :
South Pole

S8 Xdo
4699756209. ¥ - ¥

Equator
4699756210, TG OB
Arctic Circle

@B}%E Sexcho
4699756211, %

North pole

&d8 o
4699756212, ®

Question Number : 54 Question Id : 4699751564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Deamess Allowance 1s paid to the
8559 S0 HO8 =

Options :
Employees
ﬁﬁsaﬁwt‘o
4699756213, ¢
Traders
 Tardaged
4699756214, ® .
Contractors
IR =l (v ieTe ey
4699756215, % &
Farmers
SHe

4699756216. *
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The first step enrouted to political unity and unification of Germany was the
formulation of

orasfadh w58 8ok =80 2855 B 26 &0 FerHore HITLO
Options :
Black sharts
eE E’:«_&:’:g@ D020

~y

4699756217, %

Red shirts

BG {0 Jomén
4699756218, % ) 7

Zolloverein

R8T Domew
4699756219. ¢

Young Germany

aSoh aaeﬁéij Do=)ew
4699756220, %

Question Number : 56 Question Id : 4699751566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
Match the following
2288 2B0b

i. Bhumika helpline number @) 101
0¥ TrenBe Jonb

ii. Childline number b) 1800 425 2908
BI8S Joxb

111. Traffic helpline number c) 1098
E=HE e8] Jonb

iv. Fire brigade number d) 1073

of)srds &¥o Sond

Options :
109756y w 103 1-er 1i-d: 1v-a
4699756222, # 1-C; 1-a; 1-d; 1v-b

1699756003, ® 1745 1i-a;  1i-b; iv-c



4699756224, % 1-b:  1n-d; 1m-a; 1w-c

Question Number : 57 Question Id : 4699751567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
Identify False statement /s
D8R o) /e HhBotod
A. Doab features dominate fertile land between Pir Panjal ranges and Mussourie ranges
FBH0STS ©odte HE Howd (BB Hbakn HAHB (Fme Hogy aTzow.
B. Bhabar 1s porous 1n nature
728 JY)Bore dotnod
C. Indian peninsula is a part of Angara land
58 B8 Eddeno worrd grgrifo 6°06

D. The highest peak 1s Eastern Ghats 1s Aroma konda
&rd)) EHoed® I8 H5Eo 8 ol

Options :

Only B

B (83
4699756225, %

Only D

D &($
4699756226, *

Aand C

A %8csm C
4699756227, ¥

Band D

B $8a50 D

4699756228, %

Question Number : 58 Question Id : 4699751568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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After the Second World War Guomindang was forced to set up its Government

on the 1sland of
Boiss [HHos ahogo Sthard Mghomroll  HAS° (Hedam@) donin T HBYS LdAC

Options :



Taiwan
T

g
4699756229. ¥

Japan

e w )
4699756230. %

4699756231.

Philipines

HODR
4699756232, % £

Question Number : 59 Question Id : 4699751569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The World Health Organization is located at
B0 wb%; o ar) Si8o

Options :
Paris
85
4699756233, %
New York

&@dﬁ:ﬂS&
4699756234, #

Geneva

&
4699756235. ¢ S

4699756236. #

Question Number : 60 Question Id : 4699751570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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This 1s the measure of development
2 =
=15 @&@%u g e;::ocg

Options :



Sex ratio
Dois DB
4699756237, %

Population

e huatond
4699756238, %

Inflation

B e)eo
4699756239, # e

Human Development Index

SRS D58 JedE
4699756240, ¢ BSW

Teaching Aptitude
Section Id : 46997552
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 46997562
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 4699751571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these factors do not affect teaching?
& (208 Toed® D8 FFEdH (Hrddo Tohn?

Options :

Educational Qualifications of a Teacher

B dind Doerdden
4699756241, % 2 e

Communication skills of a Teacher

ST anl RS (D8 JDeeeen
4699756242, % © =¥



Teaching Experience of a Teacher

4699756243, % SEFEr 0o £he5% eogBEm

Remuneration of a Teacher

sl
4699756244, BEpcind B& %o

Question Number : 62 Question Id : 4699751572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A Person having greater difficulty in doing mental tasks 1s termed as
2.8 H88 wd SN Soen Fabio Trer BPo o FrHois
Options :
Intellectual disabled

>5°Bsexo Loz
4699756245, ¢

Speech disabled

S00ee8H0 Kerae®d
4699756246, %

Hearmg impaired

DOBE &H50
4699756247, #

Visually impaired

R 6*55w
4699756248, %

Question Number : 63 Question Id : 4699751573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct in your view?
& (Bod 8 28 D i &° vegora?
Options :
Education is a product, not a process.
D 2.8 8&8 == (PED =
4699756249, ®
4699756250, ¥
As education 1s a purposeful activity. it must have clear aims and objectives.
33655 2.8 aééa ST ERR ?U::éém, 08 PSS eddiren HBAW O ¥0A tomD.



As aims are purposeful. they must be achieved at any cost

©EcTren BBEHEHRD, TED JHoSto S5V
4699756251, % b o

Only objectives can be achieved, not the aims

oo ogye Ir@d Frfodnitran, eidiren S
4699756252, %

Question Number : 64 Question Id : 4699751574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
Role — Play and dramatization help the students
rlErdahdn  Soddsw T %Sesn E)mgégaet‘o & DBoMr GPd@NHHod

Options :
To develop leadership qualities

TChEE: oXren DosrodoSeeE
4699756253, #® o)

To join politics in future.
50556 Tabared® T8
4699756254, %

to develop social skaills.

TSR ZrTen Dogrodotn=RE
4699756255. ¥

to become cinema actors i future

O HE° LOIrEten =S50
4699756256. %

Question Number : 65 Question Id : 4699751575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
The purpose of CCE1s = -----
CCE &%) &é%één

Options :

Providing Grades mstead of Ranks

oeroed ahenrr [ither a5rEo
4699756257, ® = a

Marks should be converted into Grades. so that the stress among the students
can be reduced
Sedned [ihe &rHod® rgiko Sy dumged® w880 ShosSy)

4699756258. %



There should not be any annual examinations.

B 58%en DD sokErEs
4699756259, %

To have meanigful and holistic evaluation

©EH0EDE HBAH KHoFPEDS Hurerotdin BabeOd
4699756260. ¢ @ =

Question Number : 66 Question Id : 4699751576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
At Primary stage, Medium of mstruction should be in mother tongue. It is because
(&= 0% r%;omés é}oeﬁe} RS &mﬂ:ﬁﬁcﬁé 28 JotEsre

Options :
Majority of parents are uneducated
= e
1699756061 % S8 Soles® edimdo QBZo=ygen
Primary teachers can teach effectively in mother tongue

4699756262, # o r%go:oéﬁ Sargrdnes SrE)re 1S (HerdSodorr SHoSKe

Children must learn mother tongue
ro0msas Hgeo S5O0 SrE)TR S E =0

Children can learn concepts meaningfully in mother tongue

reoorsaes v DU EFETRE rEte efHodor JyEriet

Question Number : 67 Question Id : 4699751577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What do you understand about Collaborative Learning Approach?
DB 00 HE8 s 5 S ©go B2ETD?
Options :
It 1s a group project, individual cannot act mdependently m it.
~ e = o “an o o
160075605, 1 DO 8 B (@EE, 20506° Sheo HnBolForr FHrBoP TH.
Children must learn in groups.

Dorerdren VDB DHrTEnS® ©irds Bord
4699756266, # 2@ Y )



4699756267. ¥
It involves all the children in a group. working together on shared learning tasks.
S g)mgéguoéb& [Bbabo EDjpoSathdod. wolsr S0% oD SooBoDS

S0 Hrd D>

4699756268. #

If everyone 1n the group works on their part of task, the task will be completed soon.
2% $5r06™ Hrheostr S5 S0 DR Frh DR, FosEr SV TG ©HHod.

Question Number : 68 Question Id : 4699751578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
If you become a teacher, you will
DD a¥ Bargeendd eand, 3P
Options :
Be a good knowledge provider.

2% H09 rord) wodE Tl oo,
4699756269, % X VT

Maintaimn discipline in the classroom.

558 Ko (K Bn FEFD.
4699756270. % e =

Help the dull students to complete their home work.
= 2 v gy WA o o 0
1001567l % DoBEE Dopied =B 2odBR F°8 Dawee® 35EB0TESD.
be a facilitator for students learning.

@CJ‘SE%J@ STapStviey %‘@ﬁf&mﬁrnﬁ BOREJ).
4699756272. ¥

Question Number : 69 Question Id : 4699751579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Home assignments should always be
s08 50 JeBpEr S DPorr womd
Options :
Easy. So that there should not be any pressure on children.

Dodorr Gosd JoHERr oD 8G SolsREs.
4699756273, ¥ D)t~

Vast and 1t can help the students to pass the exams.
DFrBorr sob &)wzé@:\w $6%es® &étﬁt\%w w508 JFE8omD.

4699756274, % =



Thought provoking and should help in self learning.

o&f5Het Dodrodons™ dos, brah LSt SE=0.
4699756275. ¥

Only activity based

250 %8 egrborr 4omd
4699756276 %

Question Number : 70 Question Id : 4699751580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
What does dynamic environment of classroom mean?
KBEoDE SEKS Kb TorStnsn i & ?

Options :

Students behavior always changes

Dorrdoe (D8N dgatir 5rd)) DohEr Gotnod
4699756277, % B = - i

It 1s designed to meet the needs of all students i the class who come from
different backgrounds with various learning abilities
DD @qféﬁm &%‘Bﬁoﬂ&fm 0Bl DD 53’:1;:95930 Z0R &) S.)mgiﬁge: BRJTEeD

£3) Dorr Errodotndod.
4699756278. ¥

In class all the children are equally talented i all aspects

28 3818 &°0 hywoddr o) idred® HErS (HOHoHD aotrd
4699756279. # < i

Group dynamic of the classroom influence the teaching learning process

reoorseagy, xSRI 158 Soden. HEK ofHS BB & Hrdso Dmow.

Question Number : 71 Question Id : 4699751581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
SCERT stands for — -----
A B 3 8l & Do) FrB Srddo
Options :
State Centre for Educational Research and Training

280 Powd H8 ATHSS 618 @k (BIR
4699756281, % & =

State Commuttee for Educational Research for Teachers.

2T 508 $55 ATHSS 63F) H5 &G
4699756282, %



State Council for Educational Research and Teaching.
28 TS $8 ADTARS 818 wok &90n

4699756283, ® €

State Council for Educational Research and Training

T TS HE ASTAES 68) w0l (@Rof
4699756284, ¢ =

Question Number : 72 Question Id : 4699751582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
Which of these 1s the most important factor for classroom learning ?
&858 nast @::55}65353 @@&ofj o8 (Dl voddn
Options :
Discipline

Xsod%,
4699756285, % S

Audio- Visual aids.
& - (S5 H%8een
4699756286, % @ 5~
Motivation
(@a8es
4699756287, ¥
Physical facilities

e %‘503@0
4699756288. %

Question Number : 73 Question Id : 4699751583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Attending workshops 1s ----
38, et &S0

Options :

Mandatory for achieving Promotion.

HE)S Lo $5)058
4699756289. #

Important for Professional growth.

8% EHBO% (BE0PToH
4699756290, ¥ éﬁ)" N



Waste of time
Sabo Ho Sohio
4699756291, %

Enjoying in the group

1699756202 % [DHoeesns® S8oere KENSo

Question Number : 74 Question Id : 4699751584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When any social event 1s conducted in the school. you will
FETes® DFT FErRE EEDo AEEron HHahod®, Y
Options :
Participate in the event
=8 [Eoos® SFEPotrd
4699756293. ¢ ® 4

Stay at home and complete the pending school work

208 B18 tod, LHADXTFanS BTNV Fr TR
4699756294, % !

Engage the special classes to students.

Do (H3E SBKen D& LrFD
4699756295, % Hm 2 sl

Spend valuable time with fanuly.
LHenonind® Dends el HbdseD.
4699756296. %

Question Number : 75 Question Id : 4699751585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
Being a teacher you prefer to visit
2.8 earednlr Y & (BBE50% $088)05m08 (@Snersdard

Options :
Museum

SRPEGS T
4699756297. #

Bookshop

DNEwe oTeeasin
4699756298, %



Library

HomreGhHam
4699756299, ¥ e

Temple

Grechsn
4699756300, %

Question Number : 76 Question Id : 4699751586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
A competent teacher
2% SHBED earredin
Options :
Focuses more on brilliant students
3030 Joerhen 50 DA sothid
4699756301, % & SROR 5P 93
Always uses Power Pomt to make the classroom teaching interesting.
S8158 158 5555 edd%Sorr DoheeRA JQEr HIbarawod] & adGrhothi.
4699756302, ¥ = -
Encourages the students to complete home assignment in the classroom.

4 % = 2
rio0rseans, ¢ DTERE SBHB KBS" 2080 8 SabredS (BE)Irobd

Involves each child to take active part in the class room learning.

SBKB 1 wHSS® (B8 Dod HHBHr FETLEn B
4699756304, ¢ © ce i -
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The text book should be
8 B S dForr aomd
Options :

Colorful and attractive

Sorborbes® Hban essdaborr somd
4699756305. #

Content oriented and should provide more mformation

DRADH HBrBSNE® K08, V5D ISrTEin ©oSE o™ aomed.
4699756306, # = &=



Provide scope for learning beyond the text-book

BIREENED Dol ©ifhoseRE oo XD0TAT Gom=d
4699756307. ¥ A =

A knowledge treasure

2.8 :3;:_26 DEer som=d
4699756308, #
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Which of the following statement 1s not true m vour view.
& (Bod 8" D ) & 28 JBFTKG T
Options :
Good Teachers must be good communicators

5009 adrgeohes AHpEr Hod HFEHB (F°558) eomd
4699756309. %

All the Teachers are good communicators.

B TONOOSER Hof BIEHT ( F°E%D)
4699756310. ¥ &

Learning 1s more important than teaching
o~ e .
4699756311, % F508 oS (BrSopRes

Teacher should develop creativity among the students.

ﬁ&m@cﬁm& 3)5363@65 “@amé@ﬁé& 2oEroboSER8 ’fg)ﬁl DOm0,
4699756312, %
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Student centric pedagogy refers to ----
DB Zo Eb%é 5555 628 Jonobodkd

Options :
Every student must be provided personal lap-top.
e - V3| = { .

1699756313, # 88 DB & FENS o0 & 3D,

Every student learns in his own way.

58 Domsl SKBS 68S8° Iy o,
4699756314, %



Leamer and leamning environment is given more importance.

5% DB BFffdS Trerddndn S ©hd @‘“waééé RaglaS
4699756315. ¢

There 1s no need of any teacher in the classroom learning.

SERBB ©gH0E’ adrpeoind ©sdto B
4699756316, * &
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Blended learning means
So(Fse ogidvo o

Options :

Online Learning

e8S oidto
4699756317. %

Learning through Digital lessons i the classroom

- S5K8 118 & Azbd Fore oo @irhosso
4699756318, % o &l

Face to face learning
Sogre S8 edrddo
4699756319, * o Soi) e

Providing both Online as well as Face to Face Learning Experiences.

f“') x —
4699756320, ¥ SN & e Sogrsnd 08 edgTroh Seri@dbie.
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Read the passage carefully and mark the correct answer for the questions 81-85

When Ramu was fifteen, he was a very intelligent and generous boy. He spent his
day only reading, eating and sleeping. Other than that, he did not do anything.
When the teachers of his class asked him any questions, he would answer 1t very
immediately. He always kept himself away from social activities, but once when
he was going to the school he saw a very old man begging on the roadside.

At first, he thought that he should stop there and ask him why he was begging
because he was too old to do that mstead he should rest. At the same tune, he
realized that if he stopped there he would be late for school.

He thought for a while and went to the old man. He saw that everyone was passing
by him but no one was giving him alms. After seeing the incident, he tookout
twenty rupees from his pocket and gave them to the beggar. By doing that, he felt
very good and reached the school gasping.

Sub questions
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How did Ramu spend his day?
Options :
J600756301 % only domg social activities

only eating and sleeping
4699756322, ®

only reading. eating and sleeping
4699756323, ¥ 5

1659756324, B only sleeping
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Who did Ramu see on his way to school?
Options :
4699756325, % % POOI man

A sage
4699756326, % g

A poor woman
4699756327, %



1699756328, « An old man
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What did Ramu want to ask old man?
Options :
The reason for begging

[

4699756329, %

To eat healthy food
4699756330, *

4609756331 = 10 beg as much as he would

To rest mstead of begging
4699756332, ¥ B
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How mmuch money did Ramu give to the beggar?
Options :

4699756333, % F1ve rupees

4699756334, % LN TUpees

1609756335, % F1fteen rupees

Twenty rupees
4699756336, ¢ by ap
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What 1s the synonym of gasp?
Options :

4699756337, % DBreath

4699756338, ¥ Heave

Blow
4699756339, %

4699756340. % Inhale
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Select the proper prefix

Monthly
Options :

4699756341. +

bye
4699756342 % OO

4699756343, ® anic

~over
4699756344, %
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Find the correctly spelt word

Options :

4609756345 % Reannaisance

Renaissance
4699756346, ¥

L0075 x ReTMAlssance

4699756348, % Renaisance
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Fill i the blanks with suitable article
Where 1s Ram? He is in bathroom

Options :
4699756349, % 4

4699756350, % All

4699756351, v the



4699756352, % from
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It 1s nice moming. Let us go for walk
Options :

4699756353, ¢ @,

46909756354, % the

a. an
4699756355 %

4699756356. # an, the
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Fill in the blanks with correct prepositions
Do not open the box a knife

Options :

with
4699756357, ¢

-

4699756358. % for

at
4699756359. %

before
4699756360, %
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Choose the correct synonym for the word underlined
Foreigner
Options :
Nt
4699756361. % ~ ational

Native
4699756362, %

Alien

4699756363, ¢



Local
4699756364, %
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Choose the correct Antonym for the word underlined
What 1s an antonym for tame?

Options :

4699756365. % familiar

docile
4699756366, %*

savage
4699756367. ¥ g

4699756368, # trained
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Fill in the blanks with phrasal verbs
Sorry [ am late, mycar ~~ petrol
Options :

4699756369, % lan out

ran out of
4699756370. ¢ ©°

4609756371, % ran out on

ran out
4699756372, %
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Identify the word that is spelled correctly
Options :
4609756373, % Occassional

1699756374 OCcasional

ocassional
4699756375, %



occasionel
4699756376, %
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Add a question tag to the following statement
you didn’t play tennis last week?

Options :

did yvou
4699756377, ¥ .

didn’t vou
4699756378, %

aren’t you
4699756379, % Y

haven’t you
4699756380. %
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Fill in the blanks with the most appropriate word
% you married ?
“No, 1

Options :

Aren’t / am
4699756381, %

Are /am
4699756382, % =

Is / am not
4699756383, %

Are / ‘m not
4699756384, ¢
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Fill m the blanks with the appropriate words
Mountain and hills are a sight I have always to see them.

Options :

4699756385, % extraordinary / advocated



1699756386, * Stupendous / encouraged

loving / prepared
4699756387, % -

tascinating / longed
4699756388, ¥
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Find out the correct meaning of idiomatic expression “Teo crv wolf”
Options :

To give false alarm
4699756389. ¥

4659756300, % To shout vehemently

To turn pale
4699756391. %

To listen eagerly
4699756392 %
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Choose the correct substitute for the following sentences :

A hater of knowledge and learning
Options :
Bibliphile

4699756393, #

4699756304, % Fhilologist

Misogynist
4699756395, ®

Misologist
4699756396, ¥ =
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Choose the correct sentence
Options :



4609756307« None of them is of much use in practical life

. None of they 1s of much use m practical life
4699756398. * d

1699756399, % None of them 1s of very used m practical life

~ None of them are of much use in practical life
4699756400, *
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Who 1s the scientist credited with coining the term nanotechnology?
TSBomed ol Dol ErRrosodd RIS S?
Options :

Feynman
PR
4699756401, %

Eric Drexler
D85 %5
4699756402, %

Norio Taniguchi

JBasr &b
4699756403. ¥

Robert Curl

o=b 56
4699756404, % &
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World Book Day is Celebrated on 7

B0 DRE B EHo % 2BH%0er?
Options :
3 April
HBS 23
4699756405. &
23" May
% 23

4699756406. #

23" February

HoHs 23
4699756407. *

239 Tune

oen 23
4699756408, %
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Which of the following best describes about the term “Sindhuja-1"?
(Bod =0S° Dogira -1’ o Hel) agdor HHBoUH B ?

Options :

Controlling measures on Indus tributaries over illegal projects by Pakistan

a o] = 2 < o -
scoTscape, # PONTED TRKDE P Ertany SibD gt Booites: Jtgen

A wing of Food Corporation of India, to identify geographical indications

4699756410, % ﬁuﬁsgﬁ e e ﬁJ_QoﬁSWSJE D& 5‘5&]6&’1&5 ey s08dir :ﬁl‘)ﬁé Dzrito

To prevent the flow of Sutlej over Tibetan Plateau

OB LB Lotborr L $8 (B VS SEen
4699756411. *

Ocean wave energy converter Project
Do) voo Hob DK vE) T (@EE
4699756412, ¢
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“Forks in the Road: My Days at RBI and Beyond™ is the book written by

“Forks in the Road : My Days at RBI and Beyond 5% &Sonés
Options :

C. Rangarajan
S

-
4699756413, ¥ SRR

Bimal Jalan

5w mern
4699756414, %

Raghuram Rajan

BHnoeo Tran
4699756415, #

Unjit Patel

&8E HBS
4699756416, % B

Question Number : 105 Question Id : 4699751616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following country is not a member of G-20?
208 =86 G-20 & Sifdo TR T¥o dB?

Options :
Turkey
[Sle))
4699756417, % ¢
Iran
4699756418, ¥ T
Indonesia
e s e vor

4699756419, %

Saudi Arabia
b eodaie
4699756420, %
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Operation AAHT was a nationwide campaign to curtb

05033 AAHT % «859ede &% oo [Borbo dabadod
Options :



Suicides on railway tracks

N E = ] -
4699756421, % 38, € o of HFe

Corruption in Railways
3o ©2d8
4699756422, %

Human trafficking

<
4699756423, S B S

Violence against women

HDirere ol
4699756424, %
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What 1s the full form of GPT in Chat GPT?
Chat GPT &¢ GPT 8 &rio

Options :
Gigantic Performance Technology
Sroff Jomda) Somes

4699756425, % = =

Generative Pre-tramed Transformer

4699756426, ¥ ODS @D_@é (oS =e)]

Global Precision Technology

4699756427. % s @EaS Bopes

Grossly Plagiarized Text
(%0 2By B5)
4699756428, ¥ TTe
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What 1s the name of the easternmost point of India?
TEEBEH e By & e DLAHB (Frodo

Options :

Dibrugarh

Blzosnd
4699756429, % {E005)



Mawsynram

Srd(Fro
4699756430, *

Cherrapunji

L
4699756431, % Do

Kibithu

EALY
4699756432 ¥
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Identify the person who did not receive Nobel Prize 2022
(Bod o8 &° $*BS o8 2022 (5&°8 =R =60 HBososd

Options :
Annie Ernaux
oy JoNE
4699756433, ¢ &L~
Alamn Aspect

e85 o
4699756434, #

Anton Zeilinger

©o¢®S BdoiS
4699756435. %

John F. Clauser

e F.==b
4699756436, % e
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Recently, which of the following countries has unveiled the mdoor super
City “The Mukaab™?
adde Bod & D B¥o 208%5 Wb b B Fwsd O edHBoDoB?

Options :
UAE
aw..3
4699756437, #
QATAR
PT0

4699756438, %



Saudi Arabia

, b B
4699756439, ¥

Oman
S505
4699756440, %
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In which district of Telangana Domakonda fort 1s located?
&85050% S5 Bworren &0 D S Bod?

Options :

Nizamabad

QeSreers
4699756441, %

Nirmal

4699756442, & 335&?5

Rajanna Sircilla

]
4699756443, % TR DBREZ

Kamareddy

T{):PE%
4699756444, &
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Identify the person who did not receive Padma Award 2023
Bob 06" Ho o8 2023 ({8 =0 =88 hioNob

Options :

Shri Balakrishna Doshi
4699756445, % & ToRE &8
Shri S.M. Krishna
4699756446, ¥ 8 058, 5. o3

Shri Dilip Mahalanabis

3 8% HfedD
4699756447, %



Shri Mulayam Singh Yadav

4699756448, % & Swercaho ol arsS
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Which one of the following 1s the recent GI tag from Telangana?
(Bod & adiSe wos® Bwornd® HBoDH Frodd FRRE Hrdd (GI) Ha?
Options :
Adilabad Dokra

4699756440, % SOTTE &l

Warangal Durries

SBoiiS &o|Ben
4699756450, %

Nirmal Pamtings

K)ESéeS onoHord
4699756451, % ~

Tandur Red Gram

seotrS Lob I
4699756452, ¥
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In Feb-2023. Where did Prime Minister Shr1 Narendra Modi maugurated
“Arabic Academy”?
D256 2023 &° (Pl ETo|ETeE O Biidod® ¢ ©SdE o=l Q [FFcdomn?
Options :

Mumbai

F
4699756453, @ SDOTTOD

Ahmedabad

[EFoplutoute)
4699756454, % S8

Lucknow

o

New Dellu
oo &9
4699756456, %

4699756455, %
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What 1s the motto of the Telangana State Industrial policy?
Seorren ooy &0(FTE Soy EwE) Ao ...

Options :

In Telangana- Innovate, Regulate, Incorporate

Boorrnd - ©DHBoh, Acho|Boh, ErohdEy)
4699756457, %

In Telangana- Innovate, Incubate, Regulate

4699756458, % Seorrns” - odboth, Srpdey, dobo(God

In Telangana- Innovate, Incubate, Incorporate

Boorrpnd® - eDHBoD, ES:P@E&CSE%, SpdelavEelev)
4699756459. ¢

In Telangana- Informate, Regulate, Incorporate

Boorrnd® - Sirodo £9)0ih, Adbo@od, BroXHEY)
4699756460. *
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National Sports University was established in which State?
283D G D& Dorocho méoﬁa rhodnbod?

Options :
Harvana
Foee
4699756461, % o
Punjab

it
4699756462, % DOTD

Manipur
a
4699756463, v DTS

Mizoram

AT oo

4699756464, %
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Which state started the ‘Puduman Penn’ Scheme that involves the distribution
of Scholarship amount of Rs.1,000/- per month to girls students pursuing their
higher studies after completing their schooling at a government school?
(Bgpd BT’ FdTe DKo PG DX Soud aX)d ShPen K65 Do

S &r. 1,000/~ 37e8hd Snel) H0HB TR DSHSrS D SR @ Tgo [@Bododod?
Options :
Kerala

4699756465, % SOF

Karnataka

EgrdoX
4699756466, % @
Pondicherry
4699756467, % TOBFB
Tamulnadu

ST
4699756468. ¥
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Which University will soon get “heritage” recognition from UNESCO?
dﬁwﬁﬁlﬁ& Lol &%;&m?@ofoo é;éé{' TB3E B0y Froiod?

Options :

IIT (Kharagpur)

IIT (p8Rs3e5)
4699756469, %

[ISc Bengaluru

IS¢ Borigrso
4699756470, %

Visva Bharati University

A ientelt &é;&)m;@cﬁao
4699756471, ¥

Banaras Hindu University

T8 Srodr & Dorecho
4699756472, % W
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Which state government launched the School of Eminence project in January 20237
O Tgod® adns 2023 & ¢ S ©f I FEFS @-BoDood?
Options :
Punjab

a
4699756473, 00D

Haryana

o
4699756474, % v
Goa
4699756475, % e

West Bengal

o
4699756476. % QD%-:J:O Borrd
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Which IIT has developed a special mattress based on artificial intelligence
to detect physical and mental developmental defects in mfants?
BHHod® TOBE HbAm IrEdE Aorbse are Hiolomd &)@

D) eerdd (HEk st o IIT DB T2HoB?
Options :
IIT-Madras

20.0.8- Do
4699756477, %

[IT-Hyderabad

®.0.8- Iroeerd

4699756478, ¥ =
I[I'T-Mumbai

%.8. &-500F
4699756479. %

[IT-Kanpur

0.0.6- 5‘26535
4699756480, %
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Who received the Padma Shr1 award from Telangana State in the category of
literature and education for the year 20237
2023 J058008 Fer&ro odasn DS Derifod® Boorre oeg0 Kood éﬁé{ﬁ

O ©otHHR) H& IHB?
Options :
Modadugu Vijay Gupta
[0 Dadd Hae
4699756481, ® =
Hanumantha Rao Pasupuleti
B0HTE FHodoHoeD
4699756482, %
B Ramakrishna Reddy
8. o=s0% a0
4699756483, ¢ 002
Chinna Jeeyar Swanu
%) £cHE =%
4699756484, *

Question Number : 122 Question Id : 4699751633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Which of the following 1s related to Sustainable Development Goals?
208 T&&* “’m?gémﬁaﬁag 2 302080988 NB?
Options :
12 Goals, 196 targets
12 ﬁésna@::, 196 egzen
4699756485, % i
12 Goals. 169 targets
12 1Soeren, 169egeren
4699756486, % o T
17 Goals, 169 targets
4699756457, % L1050, 169 egyen
17 Goals, 196 targets

17 ﬁaﬁ:w;@a, 196 ogzen
4699756488. ¥
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What 1s the full form of NIRF. an Indian approach for ranking higher education mstitutes?
T EEBF0SY e Do éoge’:’o oyoHo a?j:: HEE o0 NIRF &%) 8 Sesio 2&0&?
Options :

National Institute of Research Framework

o 2 naf - = =,
4699756489, * SAS 2GS ©f 8RG) BHSE)

National Institutional Ranking Framework

RS 2N RS 2oh (20Rd)
4699756490, ¥ = P Ens Tt o

National and International Ranking Framework

IHRS 0ol BobIRKS Troloh (RHSE)
4699756491, %

National Institute of Research Funding
SIS 20Qerses &P 8G) Hoboh
4699756492, %

Question Number : 124 Question Id : 4699751635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Identify the committee/(s) that are related to National Education Policy-2020.
=805 Doy Do -2020 2 %om0B0odd Ed o BoPod
Options :
Kasturi Rangan Comnuttee and Justice Verma Committee

5578 BoiS S8 $Bain el £ STod
4699756493, % -

Kastur:t Rangan Commuttee and Ramaswamy Commuittee

r6o9rscaon % SRTD BOHS Eg0d HBako oramnio L0

Kasturi Rangan Committee and TSR Subramanian Committee

X578 BoiiS Ed H8aim TSR pHBahS 28od
4699756495, ¢

Kasturt Rangan Commuttee and NK Singh Committee

J600756a06. % SR8 BolS %208 58w NK HoR 280é
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Which one of the following countries hosted the World Hindi Conference 20237
2808 =& D B¥o |HHoS Irob BBy 2023 & w80 afod?

Options :

Fij

otec)
4699756497, ¥

Hawain

i
4699756408, % TG0

Malaysia

o,

4699756499, % SHoDRase

Singapore

oGP0

4699756500. %
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UGC Portal e-SARTS1s
UGC &85 e-SARTS eo%re

Options :
Special Assistance for Research in Technology and Sciences
RS B1PN) 38 8 a3 Bome ool PIW
4699756501, *
Special Assistance for Research and Training m Sciences
- @, =, i - | " .
1600756507, % PURE R $8 82G) ©of (BRof ad PIYD
Scholarship-fellowship Award Registration Tracking System
F08hD PR 08 8R(HAS (€~8oh DD
4699756503. ¢ S e g Onlgaw &
Support for Academic and Research Training i Social Sciences

JFE H8 ©EE vl 85) (BYoh a8 BPAS IR
4699756504, % & bt =
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Who 1s a “Child’ as per POCSO Act?
S BLo (HzeBo by [reen ISH?



Options :

Anvyone below 12 Years of age

12 Joddyore Lol $Xd Sahiy) &X) JLBa

4699756505, *
Anyone below 14 Years of age
14 Sosdore S0l S%nd Habko) BF) 5B

4699756506. * - = =

Anyone below 16 Years of age

~ Mag: MK 4,
1609756507 % 1B RODETI® Zo& S HoDY) By HS0T
Anyone below 18 Years of age

18 Soddore Lol &%) Sahiy) B8 B
4699756508. ¥
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What is the Rank of India in International Intellectual Property Index 20237
wodrdah DEWoDG KrdE 2023 &° rEEtdo EwE) ook Jod ?

Options :
40™
40 %
4699756509. #
4™
4699756510. ¢ 42 ®
44
443
4699756511, #
46%
65

4699756512, &

Question Number : 129 Question Id : 4699751640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, every year National Education Day 1s observed on

TE8 B0’ (58 JodE)Bo D oy BT B D Bord wHHHotrdd
Options :



5™ October

&95:;‘05 5
4699756513, %

10% December

&monb 10
4699756514, %

11 November

v308 11
4699756515, ¢

<t
15" March

58y 15
4699756516. %
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Mana Ooru-Mana Badi, Mana Basti — Mana Badi programme was launched
from which district?

S0% &) - DB 28, B 28 - Hd & SeEEo 2 Be Dol (FBodosnliod?

Options :
Medak

S0&E
4699756517, %

Wanaparthy
i
4699756518, ¢ RO
Nagarkumool
= -
4699756519, % 156 E83 o

Jogulamba Gadwal

Siveron Ko

4699756520. % =
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What 1s the primary function of a computer?
Eosgertob By SogyFod O Ho&?

Options :

To process information

SSrroR) X $58 & Srdrodoihn
4699756521. [}

To make phone calls
4699756522, % B0 DL

To play games

eberiHi
4699756523, %

To watch movies

20&Ten SeHheX
4699756524, %
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Which of the following is not an mput device?
Bod T&S° a5 $8%80 =08 JB?
Options :

Keyboard

E5%%
4699756525, # =

Mouse
S50
4699756526, %

Monitor

57088
4699756527, ¢



Scanner
%?_265
4699756528. %
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Which of the following 1s not a storage device?
Bod =& & Dery T2 HBES0 =08 B ?

Options :

Hard disk drive

i F.\
4609756520, % 0 BRY @S
USB flash drive
o o D R B
4699756530. % ZRE

RAM

TooE& BB b
4699756531, ¢

CD-ROM

ronE &%) 68 4.9 Dosobd
4699756532, #® & & £
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Which of the following components 1s responsible for executing mstructions
in a computer?
Lozl &° Srsdod e T grfo DB

Options :

CPU
old [FFRboh chrded
4699756533, ¢

MMU

s0b shuEaoe] el
4699756534, #

RAM

4699756535, 1 OB GRS Bb

HDD

H5 &%) @S
4699756536, # = o
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What kind of data 1s processed by an analog computer?
wlerll Lol O 858 Soromrd) DFWN08.

Options :

Continuously varying data

LBossdo a‘mtﬁaéﬁ& Borodam
4699756537 ¥ =

Discrete data

Q9% (discrete) Smeodsn
4699756538, % = =

Intermuttent data

20080808 Szeodhn
4699756539, % =

Discretely varying data

1600756540, 8 TR DY (discrete) Szro0dkw
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What 1s the purpose of a firewall?
208 Gk (BEraso &E?
Options :

To protect against unauthorized access

OXBTE (D3R8 Sr8&Torre S2oPodo
4699756541, ¢ & € 2 -

To clean the computer screen

Logered B8 dPo Jchdo
4699756542, % =

To mmprove computer performance

P o =
osgeread @) Frdroly HoSso
4699756543, % T “ B,

To store data

S0 Derhdaito
4699756544, %
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Which of the following 1s an example of a web browser?
38 (T8 8 anedrtn 6?

Options :
Firefox
25 &5
4699756545, ¥ )
Excel
oS
4699756546, %
PowerPoint
¥4
4600756547, % D0 SO0
Photoshop
5P arD

4699756548, %
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What does the acronym USB stand for?
. 2%.9 76 Er50?

Options :

Unmterruptible Supply Box

®n 200858 53 o8
4699756549, % > & &, &°3)

United States of America Broadcasting

= 4 - e i
4699756550. % AIBE ) ©P o (EseRof

Ultrasonic Sound Booster

o(er*OE AP0l 2ords
4699756551, % 2 =

Universal Serial Bus
cﬁwﬂ)éq\]ﬁ HBHS oo
4699756552, ¢
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Which of the following 1s not a component of a computer system?
208 T&&° Sogrel grifo =06 2B ?

Options :



Input device

BRYE) DBEBIW
4699756553, %

Output device

4699756554, % S0 Sergss

Storage device

Der HBXBo
4699756555, % o

Communication device

R[EFTY HHEYo
4699756556. ¥
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What 1s the term used to describe the physical parts of a computer system?
Bogetol @wE) F8E grred HIBoIERE & Jorl) adTrAT?

Options :
Software

D30
4699756557, % 8

Hardware

SEIE
4699756558 ¢ G

Firmware
- -t
D836
4699756559, % e

Middleware

0&SIE
4699756560. %
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Which of the following 1s an example of an operating system?
Bod &S widdol BPD & avrirsen 087
Options :
Microsoft Excel

=5 35 22
4699756561, # @L‘:’ a“g ‘:}?5



Google Chrome

KiHS B
4699756562 %

Ubuntu

S2008D
4699756563, ¥

Adobe Photoshop
o&'S PStard

4699756564, #
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Which of the following 1s a correct format of Email address?
Bod =&&° mbhond @) TS 0T 26?
Options :

4699756565, % WWW.XVZ.com

admin(@xvz.com
4699756566. ¥ @xy

admin(@xyz(@com
4699756567, % : :

4699756568. % http://www.xyz.com
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We all use Internet. Many a time we encounter the term “IP”.

What 1s expansion of the term “TP”
Sodorssn wodgerd) (Intermnet) ad@rATED. Tror

(IP) “22” o Jorl) Srdrotrdn. ‘0’ @Y e Srdo 267
Options :

Internal Processor

2068 (PS80
4699756569, % 2© 6

Intermittent Procedure

20058080¢T [Frhas
4699756570. %



Internet Service Provider

s00756571, % SOLBRE VG @BEE

Internet Protocol
2063 (S
4699756572, ¥
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Collection of network of networks 1s called
5&3;5& SSrSte 5&3;5% D DHootr?

Options :
Infranet
| —f -
4699756573, % BRFRE
Internet
aoéaa&ﬁ

4699756574, &

Local Subnet

LS 538
4699756575, #

Local Area Network

&%%S DBasr 3¢k
4699756576. %
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. Which of the following 1s not a Networking Device?
208 & SexBioh 58880 =08 w&?
Options :
Broad band Route

oG crrol 8¢l
4699756577, % ¢ 2

Gateway Router

T8 &mead
4699756578, % “

Linux

EFSE‘:J
4699756579. ¢ =



Firewall
Frltall
4699756580. %
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Every communication network uses switching. Identify the Switching method
in the Internet Network.

B8 2.8 Jdrerd Jexf) ol B sITrNNos. wodgre IS & 2 d0n HZ8Q 1HBoob
Options :

Packet Switched Network

2 2nihHE I
4699756581, ¢ © a =G

Cell Switched Network

20 & S
4699756582, % e

Circuit Switched Network

‘ééjﬂ@ﬁ ?0:;{513.5 5:’:.3;;53_
4699756583, %

Message Switched Network

DE HE Jh)
4699756584, % = =
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We use monitor to display images, video, text etc. When we see this information.
the monitor uses the smallest visual element. Identity the one which 1s smallest
visual element?

dzrot, DEDrod, B8 3nsBY TER (D5 oS Srledy) ad@rNTR.
& JSrTroR) TeLYD Irlded ©8 A8 &% SrosR) s
@éﬂ:oé D) cSe)éﬂ'; Sores>R)) 1oBosod

Options :
Bit
-
4699756585, % £¢5
Character
=0Xx8

4699756586, % =



Byte

)
4699756587. % =

Pixel
2 3‘36
4699756588, ¢
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When we purchase the computer, we always look at the speed of the computer.
How do vou measure the speed?
Lozl Bt oo (@88 ol Jrrd) Hardn. Y Lodris GwY) Srrl)
Dee EPeorrd?
Options :
Nanoseconds

TS ES
4699756589, % =t

Kilo-seconds

B86°
4699756590. *

Gigahertz

Ares=E
4699756591, ¥ e

Megabytes
e,
4699756592. %
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The output, which consists of 1images, video, and sound, 1s described as
&§)zgen, DETTen HBA® §PD LON &F) oD B Hvoerdd?

Options :
Multimedia
0D &5
4699756593, ¢ ©
RAM

TooE&H SEFEYS b
4699756594, %



ROM

68 5.9 b
4699756595. #

DDR SD RAM

1690756505, 3 BPE TG BE BOESH BOME oot orE® Doikod
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When the CPU acquires the instructions, 1t will access the primary memory
where the program is stored. To access the primary memory. an address should be
generated by the CPU. Identify which address 1s correct in the given list.
Zosggea8 &8 Dolod (R0l chrrdel Kl ol &n¥Bousiy . ©b B

Dex, B8 (FFE BHEY THFotnod. (EH&E bR Froid Roles

[E=R%0f crdE 8 HBTErd Hhood. Eod TEE° 5B DTS HBoS08.

Options :
Simple address

4699756597. # Qd@é raaThe

Physical address

FTaE Do
4699756598. ¥

Page address

D& DT
4699756599, %

Logical address

=05 Lo
4699756600. * 4



